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A cinema sells popcorn in two different sized cartons.

-

The small carton is 16 centimetres deep and has a volume of 576 cubic
centimetres.

The large carton is 24 centimetres deep and has a volume of 1125 cubic
centimetres.

24cm

(@) Show that the two cartons are not mathematically similar. 3

The large carton is redesigned so that the two cartons are now mathematically
similar.
The volume of the redesigned large carton is 1500 cubic centimetres.

(b) Calculate the depth of the redesigned large carton. 2

Answers:

(a) See marking instructions for acceptable methods.

(b) 22.0cm
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